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9‘1 (a) Suppose that the US passes a universal basic income policy, which increases income
for low-income individuals. Using the logic of budget constraints and utility maximization,
explain what you predict should happen to demand for McDonald’s. Explain whether this
prediction comes from changes in the utility function or changes in the budget constraint.
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Ql (b) Suppose that tariffs on Chinese goods hit some consumer goods (call these goods X) and
— not on other consumer goods (call these goods Y'). Use our utility maximization framework
to predict what happens to consumption of X and Y if the two goods are complements, and

if they are substitutes.
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Q. Bob, Carol § Ted. Each Y| thowe of P30
Prices . peachuw ¥3, applec ¥2.
() Swppows Hoos pricw of pashso falls o $2.
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Find N optimd 4ty
(b) Fina subshitwtion ¢bedd
(c) Find mwome effect
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Poll 1uwh'm 5. find bt X thtenepts.
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